Chem 1984 Marathon problem 
10 
Due no later than Monday November 25 by  4 PM
(For this once…electronic submissions will be accepted)

Gas problem

A sample of PCl5  weighing 2.69 grams is placed in a 1.000 liter flask and vaporized completely at 250 o C.  The final pressure observed at this temperature is 1.000 atmospheres. The possibility exists that PCl5  decomposes according to the equation:



PCl5 (g)  ---------> PCl3 (g)   + Cl2 (g)    

What are the partial pressures of PCl5  , PCl3  and Cl2    ? 







Heat to 250oC


2.69 g PCl5
(g)





  PCl5(g)+ PCl3(g) +Cl2(g)


250oC  t=0 s





    Ptotal=1.000 











T=250o











t >>> 0 s







P(PCl5) ?  P(PCl3) ?   P(Cl2) ?

